
                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                   

813RK 

TRIUMPH Trident 660 
2021 –        

Part Nr. 549 
 

813LB 

818225 

8310 

M8 x 50 DIN7991 

+ 123121408 

+ M8 DIN934 

887 

S0402 

+M6 x 20 DIN7984 

M8 x 20 

DIN7991 

M8 x 20 DIN912 

+ 807Z 

M8 x 30  

DIN6921 
 

M8 x 35  
DIN7991 

+123221108 

M6 x 12 
DIN7991 

M6 x 30 DIN7380 

+ 817 + 123120306 
+ M6 DIN985 

 

810R + 

M6 x 25 DIN7991 
 

819M6L 

894 

M8 x 20 DIN912 
+ 807Z 

816R + 

M6 x 20 DIN7380 
+ 123120306 

 

M8 x 20 

DIN7991 

M8 x 50 

DIN6921 

+ 123221508 
 

PACKAGE: 
switch brake 

sensor BD21 

M6 x 10 

DIN7380 
+ M6 DIN125 


